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[{{{98, 95, 92}, {89, 78, 82}, {88, 64, 64}, {61, 43, 44}, {48, 57, 58}},
{{86, 78, 44}, {65, 65, 63}, {56, 67, 77}, {47, 78, 43}, {54, 56, 58}},
{{46, 50, 76}, {65, 87, 66}, {64, 56, 66}, {92, 49, 86}, {45, 73, 83}} },

{ {77, 52, 91}, {40, 45, 69}, {89, 70, 82}, {75, 94, 60}, {78, 86, 63}},
{{85, 50, 91}, {92, 70, 82}, {72, 64, 93}, {86, 75, 52}, {43, 40, 83},

\ {{89, 92, 67}, {55, 61, 91}, {40, 54, 48}, {75, 79, 47}, {47, 44, 97}} } };
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int i, sum=0;
double average;
for (i=0; i<5; i++)
sum += scores|[0][0][i][2];
average = sum/ 5.0;

int iclass, istudent, sum=0;
double average;
for (iclass=0; iclass<3; iclass++)

average = sum / (3.0*5.0);

for (istudent=0; istudent<5; istudent++)
sum += scores[1][iclass][istudent][1];
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int iyear, iclass, istudent, icourse;
for (icourse=0; icourse<3; icourse++)
for (iyear=0; iyear<2; iyear++)
for (iclass=0; iclass<2; iclass++) {
for (istudent=0; istudent<5; istudent++)
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int i, month, day, days[12]={...}, zodiacNames[12]={...};
AT )EFE IR R month g
If ((month-1<0)||(month-1>=12)) {
printf("Error using array days[%d] zodiacNames[%d]\n", month-1, month-1);
exit(1);
}
if (day>=days[month-1])
printf("%s\n", zodiacNames[month-1]);
else
printf("%s\n", zodiacNames[(month-2+12)%12]);

#FF = 2Emonth RL{IH ¥ YfE ™ scanf("%d", &month);
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#mclude <assert h>
int i, month, day, days[12]={...}, zodiacNames[12]={...};
AT )SFE TR R month frglefi
assert((month-1>=0)&&(month-1<12));
If (day>=days[month-1])
printf( '%s\n", zodiacNames[month 1));
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